PEXYLUUA
UHCTPYMEHT

NMNALUKU KPYINbIE D
PYUYHbIE CEPUM -

m MATEPWAN U3AENUA BbICTPOPEXYLLASA CTAIb

2D2

= TUMN NONYYAEMOW PE3bEbl

‘5T - K\{ 4341, AHATIOT 11P3AM3®2
SI ! Q

LB
= ®OPMA NONYYAEMOW PE3bEbI
KOB  EITHORVIK W D D S
AAA MM MM
52828 MD305 M3x0.5 3.0 20.0 4 = HAMPABNEHWE MONMYYAEMOW PE3bEbI
52829 MD407 M4x0.7 4.0 20.0 4
52830 MD508 M5x0.8 5.0 20.0 4
- m CTAHOAPT
52831 MD61 M6x1.0 6.0 20.0 4
52832 MD71 M7x1.0 7.0 25.0 4
52833 MD81 MF8x1.0 8.0 25.0 4
52834 MD8125 M8x1.25 8.0 25.0 4
52835 MD101 MF10x1.0 10.0 30.0 4 Bricmpopexywasi cmanb 4341 (aHanoe 11P3AM3®2)
52836 MD10125 MF10x1.25 10.0 30.0 4 npumeHsiemcsi 05151 U320MoesIeHUs1 UHCMpPyMeHma
52837 MD1015 M10x1.5 100 300 4 npocmoli ¢hopMbI, ucnonb3yemo2o npu obpabomre
52838 MD12125 MF12x1.25 120 360 2 yanepoducmbix U Manosie2upoeaHHbIX cmanell ¢
npo4yHocmbio He 6onee 784 MIa (80 kac/mm?).
52839 MD1215 MF12x1.5 12,0 38.0 4
52840 MD12175 M12x1.75 12,0 38.0 4
52841 MD14125 MF14x1.25 14.0 38.0 4
52842 MD1415 MF14x1.5 14.0 38.0 4
52843 MD142 M14x2.0 14.0 38.0 4
52844 MD1615 MF16x1.5 16.0 45.0 4
BOPOTOK-AEPXATENDb OAnNA HABOP NMNMNALWLEK D-COMBO
NMNALUEK KPYI'NbIX PYUYHBIX KPYIrJibIX PYUYHbIX M3-M12,
. HSS, 8 NTPEOAMETOB
L g
e

D-COMBO
AR [NALIE
EFVTRMRN PRI w0 Mg

KON  EITHORVIK  haoniiRabt

52868 DH205 220x5 MM
52869 DH207 220X7 MM
52870 DH259 225X9 MM o
Hr. Tekn
52873 DH3810 238x10 Mm
52871 DH3011 230x11 MM COOEPXAHME:
52872 DH3814 238x14 MM NNALLKA KPYTNbIE PYYHbIE
52874 DH4514 245x14 wm ©25x9 mm, 7 wr.: M3, M4, M5, M6,

M8 (MD8125), M10, M12;
BOPOTOK-EP)XXATENb (DH259).



